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o Purpose
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o Test Technique
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o Test Execution Environment
- Window 7 64bit
- Eclipse Juno with JDK 1.4
- JUnit
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o Features not to be Tested
-GUI #4 B F A9
showWindow1()
paint()
-Data A2 2F A 9
get, set Functions
- Outpute] i+ & A9
requestSaveCut(), requestMoveArea()

o Features to be Tested
Sl N 5E S BE

requestLoadCut()
requestBrushing(), requestErasing()
requestSetLineSize(), requestSetColor()
requestSelectArea(), requestDelArea()
requestCutOffArea(), requestCopyArea()
requestPasteArea()

requestAddCut(), requestChangeCut()
requestDelCut(), requestSetCutSize()
requestMergeCut()




Unit Test Specification




Test Design Specification

o requestLoadImage()
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Test Design Specification

o requestSelectArea()
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o requestCutOffArea()
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Test Design Specification

o requestPasteArea()
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o requestAddCut()
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Test Design Specification

o requestDelCut()
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o requestMergeCut()
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Test Design Specification

o requestErasing()
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Test Design Specification

o requestDelArea()
T R

SelectedT ool 3 x]] AL I YEETF, 102 HAEC

WTT.UTD.12

o requestCopyArea()
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Test Design Specification

o requestChangeCut()
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o requestSetCutSize()
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Test Case Specification

m Input Specification Output Specification

WTT.UTC.01.01 pj.cuts.size() = 0 pj.cuts.size() = 1
WTT.UTC.01.02 pj.cuts.size() = 1 pj-cuts.size() = 2
WTT.UTC.01.03 pj.cuts.size() = 2 pj-cuts.size() = 3
WTT.UTC.01.04 pj.cuts.size() = 3 pj-cuts.size() = 4

WTT.UTC.01.05 pj.cuts.size() = 999 pj-cuts.size() = 1000




Test Case Specification

m Input Specification Output Specification

WTT.UTC.02.01 dt.linesize = 1, SelectedT ool = 0 dt.linesize = 1, SelectedT ool = 1
WTT.UTC.02.02 dt.linesize = 1, SelectedT ool = 1 dt.linesize = 1, SelectedT ool = 1
WTT.UTC.02.03 dt.linesize = 1, SelectedT ool = 2 dt.linesize = 1, SelectedT ool = 1
WTT.UTC.02.04 dt.linesize = 1, SelectedT ool = 3 dt.linesize = 1, SelectedT ool = 1
WTT.UTC.02.06 dt.linesize = 5, SelectedT ool = 0 dt.linesize = 5, SelectedT ool = 1
WTT.UTC.02.07 dt.linesize = 5, SelectedT ool = 1 dt.linesize = 5, SelectedT ool = 1
WTT.UTC.02.08 dt.linesize = 5, SelectedT ool = 2 dt.linesize = 5, SelectedT ool = 1

WTT.UTC.02.09 dt.linesize = 5, SelectedT ool = 3 dt.linesize = 5, SelectedT ool = 1




Test Case Specification

m Input Specification Output Specification

WTT.UTC.03.01 size = 1, this.size = 5, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.02 size = 1, this.size = 1, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.03 size = 1, this.size = 1, dt.linesize =1 this.size = 1, dt.linesize = 1
WTT.UTC.03.04 size = 1, this.size = 5, dt.linesize = 1 this.size = 1, dt.linesize = 1
WTT.UTC.03.05 size = 5, this.size = 5, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.06 size = 5, this.size = 1, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.07 size = 5, this.size = 1, dt.linesize = 1 this.size = 5, dt.linesize = 5

WTT.UTC.03.08 size = 5, this.size = 5, dt.linesize =1 this.size = 5, dt.linesize = 5




Test Case Specification

m Input Specification Output Specification

WTT.UTC.04.01 SelectedT ool = 0 SelectedT ool = 3
WTT.UTC.04.02 SelectedTool = 1 SelectedT ool = 3
WTT.UTC.04.03 SelectedTool = 2 SelectedT ool = 3

WTT.UTC.04.04 SelectedTool = 3 SelectedT ool = 3




Test Case Specification

m Input Specification Output Specification

WTT.UTC.05.01 at.areastat = true, SelectedTool = 0 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.02 at.areastat = true, SelectedT ool = 1 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.03 at.areastat = true, SelectedT ool = 2 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.04 at.areastat = true, SelectedT ool = 3 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.05 at.areastat = false, SelectedTool = 0 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.06 at.areastat = false, SelectedT ool = 1 at.areastat = false, SelectedT ool = 0
WTT.UTC.05.07 at.areastat = false, SelectedT ool = 2 at.areastat = false, SelectedT ool = 0

WTT.UTC.05.08 at.areastat = false, SelectedTool = 3 at.areastat = false, SelectedT ool = 0




Test Case Specification

m Input Specification Output Specification

WTT.UTC.06.01
WTT.UTC.06.02
WTT.UTC.06.03
WTT.UTC.06.04
WTT.UTC.06.05
WTT.UTC.06.06
WTT.UTC.06.07
WTT.UTC.06.08

at.areastat = true, SelectedTool = 0
at.areastat = true, SelectedT ool = 1
at.areastat = true, SelectedT ool = 2
at.areastat = true, SelectedT ool = 3
at.areastat = false, SelectedT ool = 0
at.areastat = false, SelectedT ool = 1

at.areastat = false, SelectedT ool = 2

at.areastat = false, SelectedT ool = 3

at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3
at.areastat = true, SelectedT ool = 3

at.areastat = true, SelectedT ool = 3



Test Case Specification

m Input Specification Output Specification

pj.cuts.size() = o, pj-cuts.size() = 1,

WIT.UTC.07.01 pj-cuts.get(EnabledCutNum).cutstat = err  pj.cuts.get(1).cutstat = true

pj.cuts.size() = 1, pj-cuts.size() = 2,

WIT.UTC.07.02 pj-cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(2).cutstat = true

pj.cuts.size() = 2, pj.cuts.size() = 3,

WIT.UTC.07.03 pj.cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(3).cutstat = true

pj-cuts.size() = 3, pj.cuts.size() = 4,

WIT.UTC.07.04 pj.cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(4).cutstat = true

WIT.UTC.07.05 Pi-cutssize) =999, pj.cuts.size() = 1000,

pj-cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(1000).cutstat = true




Test Case Specification

m Input Specification Output Specification

pj.cuts.size() = o, pj.cuts.size() = o,

WIT.UTC.08.01 pj.cuts.get(EnabledCutNum).cutstat = err  pj.cuts.get(0).cutstat = err

pj.cuts.size() = 1, pj.cuts.size() = o,

WIT.UTC.08.02 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(o).cutstat = err

pj.cuts.size() = 2, pj.cuts.size() = 3,

WIT.UTC.08.03 pj.cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(3).cutstat = true

pj-cuts.size() = 3, pj.cuts.size() = 4,

WIT.UTC.08.04 pj.cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(4).cutstat = true

WTT.UTC.08.05 pj-cuts.size() = 999, pj.cuts.size() = 998,

pj-cuts.get(EnabledCutNum).cutstat = true pj.cuts.get(998).cutstat = true




Test Case Specification

WTT.UTC.09.01

WTT.UTC.09.02

WTT.UTC.09.03

WTT.UTC.09.04

WTT.UTC.09.05

pj-cuts.size() = o,
pj.cuts.get(EnabledCutNum).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 1,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 2,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 3,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 999,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = o,
pj.cuts.get(0).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 2,
pj.cuts.get(2).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 3,
pj.cuts.get(3).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 4,
pj.cuts.get(4).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 1000,
pj.cuts.get(1000).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500



Test Case Specification

m Input Specification Output Specification

WTT.UTC.10.01 dt.linesize = 1, SelectedT ool = 0 dt.linesize = 1, SelectedT ool = 2
WTT.UTC.10.02 dt.linesize = 1, SelectedT ool = 1 dt.linesize = 1, SelectedT ool = 2
WTT.UTC.10.03 dt.linesize = 1, SelectedT ool = 2 dt.linesize = 1, SelectedT ool = 2
WTT.UTC.10.04 dt.linesize = 1, SelectedT ool = 3 dt.linesize = 1, SelectedT ool = 2
WTT.UTC.10.05 dt.linesize = 5, SelectedT ool = 0 dt.linesize = 5, SelectedT ool = 2
WTT.UTC.10.06 dt.linesize = 5, SelectedT ool = 1 dt.linesize = 5, SelectedT ool = 2
WTT.UTC.10.07 dt.linesize = 5, SelectedT ool = 2 dt.linesize = 5, SelectedT ool = 2

WTT.UTC.10.08 dt.linesize = 5, SelectedT ool = 3 dt.linesize = 5, SelectedT ool = 2




Test Case Specification

m Input Specification Output Specification

WTT.UTC.11.01 this.color = 1,dt.brush.color =1 dt.brush.color = 5
WTT.UTC.11.02 this.color = 1, dt.brush.color =2 dt.brush.color =5
WTT.UTC.11.03 this.color = 1, dt.brush.color = dt.brush.color =5
WTT.UTC.11.04 this.color = 1, dt.brush.color =4 dt.brush.color = 5
WTT.UTC.11.05 this.color = 1, dt.brush.color =5 dt.brush.color =5
WTT.UTC.11.06 this.color = 1, dt.brush.color = dt.brush.color =5
WTT.UTC.11.07 this.color = 1, dt.brush.color =7 dt.brush.color =5
WTT.UTC.11.08 this.color =1, dt.brush.color = dt.brush.color = 5
WTT.UTC.11.09 this.color = 1, dt.brush.color =9 dt.brush.color =5
WTT.UTC.11.10 this.color = 1, dt.brush.color =10 dt.brush.color = 5
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Test Case Specification

m Input Specification Output Specification

WTT.UTC.12.01
WTT.UTC.12.02
WTT.UTC.12.03
WTT.UTC.12.04
WTT.UTC.12.05
WTT.UTC.12.06
WTT.UTC.12.07
WTT.UTC.12.08

if.selectedtool = 0, at.areastat = false;
if.selectedtool = 1, at.areastat = false;
if.selectedtool = 2, at.areastat = false;
if.selectedtool = 3, at.areastat = false;
if.selectedtool = 0, at.areastat = true;
if.selectedtool = 1, at.areastat = true;

if.selectedtool = 2, at.areastat = true;

if.selectedtool = 3, at.areastat = true;

if.selectedtool = 0, at.areastat = false;
if.selectedtool = 1, at.areastat = false;
if.selectedtool = 2, at.areastat = false;
if.selectedtool = 3, at.areastat = false;
if.selectedtool = 0, at.areastat = false;
if.selectedtool = 0, at.areastat = false;

if.selectedtool = 0, at.areastat = false;

if.selectedtool = 0, at.areastat = false;



Test Case Specification

m Input Specification Output Specification

WTT.UTC.13.01 if.selectedtool = 0, at.areastat = true; if.selectedtool = 3, at.areastat = true;
WTT.UTC.13.02 if.selectedtool = 1, at.areastat = true; if.selectedtool = 3, at.areastat = true;
WTT.UTC.13.03 if.selectedtool = 2, at.areastat = true; if.selectedtool = 3, at.areastat = true;

WTT.UTC.13.04 if.selectedtool = 3, at.areastat = true; if.selectedtool = 3, at.areastat = true;




Test Case Specification

m Input Specification Output Specification

WTT.UTC.14.01

WTT.UTC.14.02

WTT.UTC.14.03

WTT.UTC.14.04

WTT.UTC.14.05

EnabledCutNum = 4
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = o
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum =1
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = 2
pj.cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = 3
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = o
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum =1
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = 2
pj-cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = 3
pj.cuts.get(EnabledCutNum).cutstat = true

EnabledCutNum = 4
pj-cuts.get(EnabledCutNum).cutstat = true



Test Case Specification

m Input Specification Output Specification

pj-cuts.get(EnabledCutNum).width =300  pj.cuts.get(EnabledCutNum).width = 100

WIT.UTC.15.01 pj-cuts.get(EnabledCutNum).height = 300  pj.cuts.get(EnabledCutNum).height = 100

pj.cuts.get(EnabledCutNum).width =100  pj.cuts.get(EnabledCutNum).width =1
pj-cuts.get(EnabledCutNum).height = 100  pj.cuts.get(EnabledCutNum).height = 1

WTT.UTC.15.02




Unit Test Report
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Unit Test Report

[ Package Explorer gfu JUnit 22 = O

o BE( Q0w

Finished after 5.025 seconds

Runs: 15/15 B Errors: 0 B Failures: O

4 | InterfaceTest [Runner: JUnit 4] (4.893 )
gl testRequestLoadimage (4.472 <)
gE] testRequestBrushing (0.011 s)
E'E testRequestErasing (0.012 5)

E'E testRequestSetlineSize (0.010 5)
E'E testRequestSetColor (0.020 =)
pE] testRequestSelectares (0.010 <)
E'E testRequestCutOffarea (0.068 &)
E'E testRequestPasteArea (0.012 5)
g testRequestDelArea (0.009 5)
pE] testRequestCopyArea (0.040 5)
tE] testRequestAddCut (0.020 5)
E'E testRequestDelCut (0.019 5)

E'E testRequestSetCutSize (0.011 =)
g testRequestChangeCut (0.010 5)
E'E testRequestMergeCut (0168 5)

= Failure Trace )




